THIS PUZZLE [S, LIKE, CA-SA-TROPIC

The encryption cipher is different from problem to problem. If B=S5 in the first problem, it equals 5
throughout that problem, but it may not equal 5,in any of the other problems. The relations are
reciprocal: if 5=B in the first problem, then 5=B in all of that problem (but maybe not the others).
These four division problems are in four different bases. Cne of them is base 8, one is base 10.
one is base 11. and one is base 12; it is up to you to determine which is which.
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